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bez záťaže	10	20	30	40	50	60	70	80	90	100	0	0	0	0.12000000000000002	0.15000000000000005	0.2	0.3000000000000001	0.34000000000000008	0.54	0.6000000000000002	so záťažou	10	20	30	40	50	60	70	80	90	100	0	0	6.0000000000000019E-2	9.0000000000000024E-2	0.12000000000000002	0.18000000000000005	0.24000000000000005	0.3000000000000001	0.3600000000000001	0.4300000000000001	so záťažou	10	20	30	40	50	60	70	80	90	100	0	6.5000000000000023E-3	1.4999999999999998E-2	2.3E-2	3.15E-2	3.7500000000000006E-2	0.05	5.3999999999999999E-2	6.0000000000000019E-2	7.5000000000000011E-2	bez záťaže	10	20	30	40	50	60	70	80	90	100	1.4000000000000004E-3	9.200000000000005E-3	1.7000000000000001E-2	2.5000000000000001E-2	3.2000000000000015E-2	4.2000000000000016E-2	5.1999999999999998E-2	6.0000000000000019E-2	6.6000000000000003E-2	8.5000000000000006E-2	